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The table shows average rainfall in Leicester over a year,

Complete the graph using the information from the table.

70—

B0 —

L

40 —

30—

20—

Rainfall {mm)

10—
Q

1

|
Jan Feb Mar Apr May Jun Jul Aug Sep Oct Mov Dec
Manith

2)

|
lan 54
Fels 40
b 38
Agr 38
May 48
Jum 45
Jul &8
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Here is a table showing the conversion between pounds and
rupees. Present the information as a line graph.
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Challenge)

Rosie has used the data in the table to

plot the line graph.
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What mistakes has Rosie made?
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Can you draw the line graph correctly?




